11/10(B)RfE R7R70-F<ANTZ2 Pa=PF~L P24+ FinKEI1BRED

2, Mk INERAFETDE pd ,1-5 A
No. rank A7ovy BE B e MM E RN B R No. rank BZ7avs SHEE  AH BN BB &K B W
128 B B |BrvusCy=2557 6-0 6-1 2-0  1fi 136 =H &% 0-6 6-4 1-1 26
2| PE RE evservEx 0-6 4-6 0-2 | 3f{u 2. | KH#&##N |Wr=zFhFI-  6-0 6-0 2-0 141
3 fEE—BE KEEE7=2957 1-6 6-4 1-1 2% 3 BB EE 0-6 4-6 0-2 3fi
4 4

to. rank c7avy HigE SHEN GBS B

175 $ig & VUABE BB T=AF—L 6-5 6-0 2-0 161

2 =H R 5-6 6-1 1-1 | 2f

3 fEEESIE  VWF=27hFI—  0-6 1-6 0-2 | 3fif

4

V=l FEH/IR)

N—THOE, b—FAPETVET. > D1.26Ib—F A @3.4fIb—F X0
*FBOT—LKI/ TR T-JHR

FEAT LK/ TR T—IHFADFE
HAMDIr—IIT7 VTV —ER4EDH,

RA b=, De TR ERICTTVELED,

RIS, AMEELTI7I77L—2D0HITELES,



11/10(B)ffE R7R70-F<ATNTZ 2= FxLP24FInKEINBRED

INERAFEE LT 26 —F Ak INEBAFEE LTI —F AV
mEEE T R
OA4¥)LSCT=RY57T wITUALFe—H5THEAR
bye bye |
= = e i 18
41 4-0
=H &% REEE
= B0 5
_ 4-1 4-0
=H &N &R JCEB
VIPF=R7HhTS—
R
&QX%ZEE?:%FE‘—A
B
i BE—B
REBBET=R93D
_KH 4 |
41
bye
ANH &0

VIPTZRF7HTS—



11/10(B)RfE R7R701FANTZ Za=TFLoP24FInKEI1BRED
RGN T OB

o OAB¢s

143 B {CF  KITA
2 EHAWE TCKHATFIV-

3 B R

1 3Lk #X TA Tennis School
2 EEFHR FF=Z

3 BEHE

4 (ERAKE BEIV-UF=RI5T

V=V EEER)
)= DE, b—F AP ETVET, = D1.2(ub—F Ak @3 4fib—F A B

FATOVI65—LERM/ —TRIST—V AR BCTAV V45 —LER/—TRN F—IHBXOFE

FEAT— LKW/ TR T—IHADTFE
BARDIA—IIT7ITIIY—ER4EDHG,
cRAUb-N, Dy TR ERICITTVELED,
R, AMEELTI7I7TL—2DHHELES,

2031
33
141

213
161
33
41

112 BF IEE FF=X

2

3

4-1 4-3 3-0

EH BEF mawc-s7=227-1 0-4 1-2
P BBT) ®ESBF=REE  1-4 2-1
EH BT BAOKITS 3-4 0-3

1
3
2031
4



11/10(B)fRfE R7R700-BF<ANT 2 Za=7TF~LP24FinKEI1BR2D

INEREFEMUT120U F—F XY | INEREFEUTI AN F—TF XY |

5D 5 B HH
TCRKHT7I)—
bye bye
el Il BRI, _BA M
6-2 4-1
R H 1 BETY =2H &#E
RAMT=AWE FBMOFHRITS
Bal it BETh Sm EE
4-0

FH £ X {ERRK &

TAI Tennis School BES)—T=RHFT
7 = 2
EE e EE
Fr—X
E] .
4-2
I/s’@ {—/\ _ bye
KITA
S i3 BEF]
bye 6-2 bye 4-1
BeFEE | & BEF
REBHF—LT=XRI—)L

FF=2R



11/10(B)RAE R7R70-FATNTZ 2= F~LP24FInKEINBREZD

A% A | ¥
lgqm& qj?rELl-Fd)aB XZ{I.::NA
RE #£E R EBEE £4 i
1 <M £E A=V Yavh 6-4 4-6 1-1 PXivi
2 WHN—97=2957 | 4-6 3-6 0-2 3
3 A B A—WYLXF=R957 6-4 6-3 2-0 1431

[iRES—F AR ]
=l EEHIH)
BEHEUTIRIERELET.
6T —LEW/ TN T—VFRDTFE EF Fid
HREBRDVA—IITT V7T —ERAEDHA, —— 65
RAUba=N, Py IR IERICTVELED, R £B

RIS, ALMEIELTI77TL—2 i HITEL LS, 63
EBMBEE ——————

X FH




11/10(B)fRfEE R7R70)5FLAT 2 a=TF~L P29 FINKEI 1 BAED
% OBennssf ARSSR AA

A m Lk

<INERAFEXELTDE SINEROFEXELTDOE>

S EpE EE T8 ()
EEE BB (£)

BBE WS BE (B)
| | EEBE KB # ()

<HZEELUTOE>
P T @

BBE X BN (H)
HEBHE ER £E (£) é




